2.7 EXERCISE 2 – Extraction of aluminium, titanium and tungsten
1.
Explain why aluminium is not extracted by reaction of its oxide with carbon

2.
Explain why aluminium oxide is dissolved in molten cryolite.

3.
Write half-equations for the reactions at each electrode, and write an overall equation for the reaction.

4.
State what each electrode is made of.

5.
Explain why the anodes need to be regularly replaced.

6.
Explain why the elctrolysis of aluminium oxide is expensive.

7.
Explain why aluminium is recycled.

8.
Explain how aluminium is recycled.

9.
Explain why titanium dioxide cannot be reduced by electrolysis.

10.
Explain why titanium dioxide cannot be reduced by reaction with carbon (give an equation).

11.
Explain how titanium dioxide is converted into its chloride (give an equation).

12.
Describe two ways in which titanium tetrachloride is reduced to titanium (give two equations).

13.
Explain why an atmosphere of argon is required in the reduction process.

14.
Explain why this process is so expensive.

15.
Write an equation to show how titanium is extracted from its oxide and give the main hazard associated with this process.
16.
Give the three main problems normally associated with recycling.

